Eco/3s HUW  Answes Fv~  Chepte 9 )

SN S
=l P:bz&k’:29000§77§>

1L = /20/000
FC= 30000 (=
\

= 100,000

J00000 ¥ o, /)

TVe= Te~pe 20,000

TT=TR—7¢

= 100,000~ /20000

B

= —20,00D St He,
\

5 ﬁ /o,J_s
/pﬁfﬂ'/‘//j> f*’”]ctf /s ﬁo‘),ﬁ‘,\q

TR Tyc = /00000 70,000 = /0)00:,,> o)

;./M‘f’/"ﬂ. _Mz /v %Jﬁ‘,\j f(/”/qu* e{\,,]g I Tle

A T = /soo~i§z>o =0 (ér&z& Enar )

QPW%W?L . /57?0 1000 = 520> 0
il ‘
| SR Oferwte
(/5ZD=~90 (
i FR: Cpente

B 7= 2000~ /500 = soe S

e L.

SR ¢+ Opeate
IR fpeeta

Ve 2000._2m§_~930 <O '
OPOW-/._

C.

§Ki LSA_,(‘ 6)/5-4\,
[-//e ! C)(/?L

2bse — A0 = — oo <o,

‘D‘ 77-:' 5000"" éo"c’t —~ [ < O
ool 5000 — Jsvo = 400 Do

E: 772 50— 7ooe = ~ 2000 <o
Wﬂé"{'> Lo — §Gpe = —5¥=< e

F: = 3000~ fome = joo= > 0O
Jf‘vv‘ft Evop — g5 = /50 7




i 8
A * K Q
9% s detomned Wone P=HE
% 77:(, TVC McC . =
- ] L (& — /h fhew cadce 77‘4'/*; o e Mc 7—2
(@] ) , d/& A s % ad 722
;a5 ¥ Thirt e c0% SRS § '
g PRk el sinec (F 1o Pw‘d“@‘
3 e 225, Mc>MR(L) oo Hefim sP=X
S J2 4 F iy Aagy
EZ‘ 1~ 20 7] il '
P e U SRR S e et
TC= 22, 7=af-2r>~4 <<
Oy. L»a-‘f——: .2@ —_ Je = 00>C>
SR: et
R - sﬂé&
% 4 e
g TRC  7ve T AV A7c M
0 £ Joo 0 . W,__ B 5 ) T ——
) D jec o
rams [oce Lhoe> /00O
2 S 150 450 Z#S 248 5T
J der 2le 40 70 /7o b
% Joe 29, 59 725 /YRS e
f el e ean e e o
e Yo Py, Jo /%= ) Yo
OZ jw 7Aoo fede soag 1452 /e
9 3W P faEs | R 75 /56 3¢ ase
e 3
% o //é z‘: //;:: SR R IR )] 17
/69' b= /?9\09 Jé?
( T ,
fr/uz .5 , \MMMJR Tc
D € ( shet dﬂ-—l\) —~ o O S0
Vad o Céhv"{' ij ~ oo O o 2/0 30 o S70
o I /9o 400 590
//7: 5 - 5D 650 700
g b /fo /020 Pgo
) ;D, 770 AL f&5P
/61° S X




@
% © P &8 4.0 Y Foutte ity Sty e
5 o £ 000 Tomav] shed gy, - r
£ betve, 0 ¢ J Oi?;: < 671///0’/144\ VS & frie
- Y 2l v Phr Dol 1 & e asf
/o 7 Gk, S
0 beo  Fuy 74007 Wit/
/mdu.c';e Q 7‘,4-,’79? 5 éq“/
2k -t Gt 1 P
T

~ I eg.u, brrea,
5| %7‘7' w.ff 0((41,/'

WA 7% b (Hosaul.)
%wfm ' Aonet o g ( (o )
/ WFF/ “1/7;\_.__,/»
A

SVL oirgnce i P”d‘j’k\

€ ), e St rtn , dorand shige, 5o D 4 b}

' . Firmg Goe Md? /"’7@'/5 acf
7507 o |



